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Hrp f:R" 5 R.

1I25: g(Xx)=Vi(x), g, =V, g,=Vf(X)
G(x)=V*f(x), G, =V’f(x"), G,=V>f(x)
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f(x+2d*) = f(x*) = Agld* +o(]| Ad* |)).
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PL=g, 1EN T BT R ) SRR ol | RS, SRR OB EET.

EIE Ni%i% (steepest descent method) E—FLAGIEE A
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TRHBH—HEE ZHEN SR FMEEfHCauchy£1874
FiedH, BEXRELIRNERERIEERZE.
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2. MEMERWE DK > 0,5 (X +4,d°) < f(x).
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R, FHAAERHB > 0t cosd, = g, M lim g, [ =0.
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Bl &EE KR é&f(x)——x Gx+q'x+r, HFGeR™IEEMME, qeR",

reRAEY: iRk s B

WER g(0=Gx+0q,G(x) =G, HPGeR™IEE.
FARI — 4RI R 1P KA, =argming(2) = f(x“+1d"), ke
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min f(x):Ex1 + X5,

Hryiig rix’ =(2,1)".

. - . (10
W g(x) = (%, 2%,) ,G(x){o 2}0.
=9(x°)=(2,2)" =0,
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—g(x') = %(z, _2)7 #0,
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